
 
Prove that: 

∑
𝟏

(𝟏 + 𝒌𝟐)(𝟐 + 𝒌𝟐)(𝟑 + 𝒌𝟐)
𝒌∈𝒁

=
𝝅

𝟐
(

𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
− √𝟐𝒄𝒐𝒕𝒉(𝝅√𝟐) + 𝒄𝒐𝒕𝒉(𝝅)) 

Proposed by Ankush Kumar Parcha-India 

Solution 1 by Shobhit Jain-India 

𝑰 = ∑
𝟏

(𝟏 + 𝒌𝟐)(𝟐 + 𝒌𝟐)(𝟑 + 𝒌𝟐)

∞

𝒌=−∞

= ∑ (

𝟏
𝟐

𝟑 + 𝒌𝟐
−

𝟏

𝟐 + 𝒌𝟐
+

𝟏
𝟐

𝟏 + 𝒌𝟐
)

∞

𝒌=−∞

= 

=
𝟏

𝟐
𝒇(√𝟑) − 𝒇(√𝟐) +

𝟏

𝟐
𝒇(𝟏) 

𝒉𝒆𝒓𝒆,   𝒇(𝒙) = ∑
𝟏

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

. 𝑵𝒐𝒘,   
𝒔𝒊𝒏(𝝅𝒙)

𝝅𝒙
= ∏ (𝟏 −

𝒙𝟐

𝒌𝟐)

∞

𝒌=𝟏

 

⟹  𝒍𝒏(𝒔𝒊𝒏(𝝅𝒙)) − 𝒍𝒏(𝝅𝒙) = ∑ 𝒍𝒏 (𝟏 −
𝒙𝟐

𝒌𝟐)

∞

𝒌=𝟏

  𝑵𝒐𝒘 𝒅𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒕𝒊𝒂𝒕𝒆 𝒘. 𝒓. 𝒕 𝒙 

⟹ 𝝅 𝒄𝒐𝒕(𝝅𝒙) −
𝟏

𝒙
= ∑

𝟐𝒙

𝒙𝟐 − 𝒌𝟐

∞

𝒌=𝟏

⟹
𝝅

𝒕𝒂𝒏(𝝅𝒙)
= ∑

𝒙

𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

 

𝑵𝒐𝒘 𝒓𝒆𝒑𝒍𝒂𝒄𝒆 𝒙 𝒃𝒚 𝒊𝒙 ⟹
𝝅

𝒕𝒂𝒏(𝒊𝝅𝒙)
= ∑

𝒊𝒙

−𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

       𝒖𝒔𝒆,   𝒕𝒂𝒏(𝒊𝝅𝒙) = 𝒊 𝒕𝒂𝒏𝒉(𝝅𝒙) 

⟹
𝝅

𝒊 𝒕𝒂𝒏𝒉(𝝅𝒙)
= ∑

𝒊𝒙

−𝒙𝟐 − 𝒌𝟐

∞

𝒌=−∞

⟹
𝝅

𝒕𝒂𝒏𝒉(𝝅𝒙)
= ∑

𝒙

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

 

⟹ 𝒇(𝒙) = ∑
𝟏

𝒙𝟐 + 𝒌𝟐

∞

𝒌=−∞

=
𝝅 𝒄𝒐𝒕𝒉(𝝅𝒙)

𝒙
 

⟹ 𝑰 =
𝟏

𝟐
𝒇(√𝟑) − 𝒇(√𝟐) +

𝟏

𝟐
𝒇(𝟏) =

𝟏

𝟐
(

𝝅 𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
) − (

𝝅 𝒄𝒐𝒕𝒉(𝝅√𝟐)

√𝟐
) +

𝟏

𝟐
(𝝅 𝒄𝒐𝒕𝒉(𝝅)) 

⟹ 𝑰 =
𝝅

𝟐
(

𝒄𝒐𝒕𝒉(𝝅√𝟑)

√𝟑
− √𝟐𝒄𝒐𝒕𝒉(𝝅√𝟐) + 𝒄𝒐𝒕𝒉(𝝅)) 

 



 
Solution 2 by Pratham Prasad-India 

∑
𝟏

(𝟏 + 𝒒𝟐)(𝟐 + 𝒒𝟐)(𝟑 + 𝒒𝟐)
𝒒𝝐𝒁

=
𝟏

𝟐
∑

𝟏

(𝟏 + 𝒒𝟐)
−

𝟐

(𝟐 + 𝒒𝟐)
+

𝟏

(𝟑 + 𝒒𝟐)
𝒒𝝐𝒁

 

=
𝟏

𝟐
𝝅 (𝐜𝐨𝐭𝐡(𝝅) − √𝟐 𝐜𝐨𝐭𝐡(𝝅√𝟐) +

𝟏

√𝟑
𝐜𝐨𝐭𝐡(𝝅√𝟑)) 

=
𝝅

𝟐
(

𝟏

√𝟑
𝐜𝐨𝐭𝐡(𝝅√𝟑) − √𝟐 𝐜𝐨𝐭𝐡(𝝅√𝟐) + 𝐜𝐨𝐭𝐡(𝝅)) 

As by Fourier series: 

∑
𝟏

𝒌𝟐 + 𝒏𝟐

𝒏𝝐𝒁

=
𝝅

𝒌
𝐜𝐨𝐭𝐡 (𝝅𝒌) 

 

 

 

 

 

 

 


